
 

  Questão 62 

 
 

RESOLUÇÃO 

A soma  𝑝(𝑥) + 𝑝(2𝑥) + 𝑝(3𝑥) + ⋯ + 𝑝(2023𝑥) + 𝑝(2024𝑥)  é dada por: 

𝑝(𝑥) + 𝑝(2𝑥) + 𝑝(3𝑥) + ⋯ + 𝑝(2023𝑥) + 𝑝(2024𝑥) = 

(𝑥 + 2024) + (2𝑥 + 2024) + (3𝑥 + 2024) + ⋯ + (2023𝑥 + 2024) + (2024𝑥 + 2024) = 

(𝑥 + 2𝑥 + 3𝑥 + ⋯ + 2023𝑥 + 2024𝑥) + 2024 ⋅ 2024 

Agora, lembramos que a soma 𝑆𝑛 dos 𝑛 primeiros termos de uma PA (𝑎1, 𝑎2, … , 𝑎𝑛
) é dada por: 

𝑆𝑛 =
(𝑎1 + 𝑎𝑛

) ⋅ 𝑛
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Assim: 

 𝑝(𝑥) + 𝑝(2𝑥) + 𝑝(3𝑥) + ⋯ + 𝑝(2023𝑥) + 𝑝(2024𝑥) = 0 ⇔ 

(𝑥 + 2024𝑥) ⋅ 2024

2
+ 2024 ⋅ 2024 = 0 ⇔

(2025𝑥) ⋅ 2024

2
= −2024 ⋅ 2024 ⇔ 

2025𝑥

2
= −2024 ⇔ 𝑥 = −

4048

2025
 

Assim, sendo: 

−
4050

2025
< −

4048

2025
<

0

2025
⇔ −2 < 𝑥 < 0 

 

ALTERNATIVA:B 
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